ACCESSORIZED BY

oS>
150 9001 N
BUREAU VERITAS |
Certification

IS WWW. metec. ee

Paigaldusjuhend | Mounting instructions | UHcTpykuus no yctaHoBke | Montageanleitung 8644908

Scania S, R, G, P cabs, 2016-

Art. 2761788 (864490), 2761789 (864491)
Rammraud FIN WING | Truck cattleguard FIN WING | MNepeaHsasa gyra FIN WING | LKW Bullfanger FIN WING

20. Polt / bolt / 6onT / Bolzen M10x30 DIN 933 10
21. Polt / bolt / 6onT / Bolzen M10x30 DIN 7991 6
22. Polt / bolt / 6onT / Bolzen M12x30 8
23. Polt / bolt / 6onT / Bolzen M8x25 DIN 7991 2
24, Polt / bolt / 6onT / Bolzen M8x25 DIN 933 2
25. Liblikpolt / butterfly bolt / 6abouka 6ont / Schmetterling
Bolzen 2
26. Mutter / nut / rarika / Mutter M10 20
27. Puks / bushing / 6ykca / Buchse 2
28. Seib / washer / wawba / Scheibe 20x37x3 2
29. Seib / washer / wawba / Scheibe 13x24x2,5 2
30. Seib / washer / waiiba / Scheibe 10,5x30x2,5 20
31. Seib / washer / waiiba / Scheibe 10,5x20x2 12
32. Seib / washer / waiiba / Scheibe 8,4x16x1,6 2
33. Seib / washer / wawba / Scheibe 6,4x18x1,6 2
1. Rammraud / cattle guard / nepegHsa gyra / Bullfanger 1 34. Vedruseib / spring washer / npyxuHHas wanba /
2. Kronstein / bracket / kpoHwTenH / Konsole 1 Federnscheibe A20 2
3. Kronstein / bracket / kpoHwTenH / Konsole 1 35. Vedruseib / spring washer / npyxuHHas waviba /
4. Kronstein / bracket / kpoHwTenH / Konsole 1 Federnscheibe A12 2
5. Kronstein / bracket / kpoHwTewnH / Konsole 1 36. Vedruseib / spring washer / npyxuHHas wariba /
6. Kronstein / bracket / kpoHwTewnH / Konsole 2 Federnscheibe A10 2
7. Kronstein / bracket / kpoHwTewnH / Konsole 1 37. Vedruseib / spring washer / npyxuHHas wariba /
8. Kronstein / bracket / kpoHwTewnH / Konsole 1 Federnscheibe A8 2
9. Kronstein / bracket / kpoHwTewnH / Konsole 1 38. Vedruseib / spring washer / npyxxvHHas wanba /
10. Kronstein / bracket / kpoHwTewnH / Konsole 1 Federnscheibe A5 2
11. Kronstein / bracket / kpoHwTenH / Konsole 1 39*. Polt / bolt / 6onT / Bolzen M20x220 2
12. Laterna kinnituskronstein / lamp fixing bracket / 40*. Kronstein / bracket / kpoHwTenH / Konsole 1
KpenexHbi KpOHLITENH namnbl / 41*. Kronstein / bracket / kpoHwTewnH / Konsole 1
Lampenbefestigungsklammer 4 42* Kronstein / bracket / kpoHwTewnH / Konsole 1
13. Laterna kinnituskronstein / lamp fixing bracket / 43*. Kronstein / bracket / kpoHwTewnH / Konsole 1
kpenexHbli KpOHLUTENH namnbl / 44. Kummiseib / rubber washer / peauHoBas wariba /
Lampenbefestigungsklammer 4 Gummisscheibe 6
14. Puks / bushing / 6ykca / Buchse 2
15. Plaat / plate / nnactuna / Platte g *~-for protruding bumper
16. Polt / bolt / 6onT / Bolzen M20x170 2
17. Polt / bolt / 6onT / Bolzen M12x170 2 M6 - 11 Nm
18. Polt / bolt / GonT / Bolzen M20x40 2 WS -2 Nm
19. Polt / bolt / 6onT / Bolzen M10x70 2 M12 -90 Nm

M20 - 245 NM

Kaal / Weight / Macca / Gewicht: 88,1 kg
Paigaldusaeg / Time of mounting / Bpems yctaHoBku / Einbauzeit: 120 min

10 10 \

y It 3 ® O N 010 @45
G 7 e " 024 § ==
30 30

All Rights Reserved by Tarmetec | www.metec.ee 08.02.2019 1/8




Scania S, R, G, P 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | NMepeaHsas gyra FIN WING | LKW Bullfanger FIN WING

U Egrl;‘lrﬂ 8 E{lotls,lging
D
Medium bumper High bumper Medium bumper High bumper

All Rights Reserved by Tarmetec | www.metec.ee 08.02.2019 2/8



Scania S, R, G, P 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | lNepegHsasa gyra FIN WING | LKW Bullfanger FIN WING

All Rights Reserved by Tarmetec | www.metec.ee



Scania S, R, G, P 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | NepegHsia gyra FIN WING | LKW Bullfanger FIN WING

All Rights Reserved by Tarmetec | www.metec.ee 08.02.2019 4/8



Scania S, R, G, P 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | Nepegnas gyra FIN WING | LKW Bullfanger FIN WING

Fix tightly!
Use adjustment washers!

All Rights Reserved by Tarmetec | www.metec.ee 08.02.2019 5/8



Scania S, R, G, P 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | NMepegnaa ayra FIN WING | LKW Bullfanger FIN WING

ﬁG tube For @60 tube

@mﬂy 3@44@

Pukseerimin
Towing
BykcupoBka
Abschleppen

‘/

Bumper High Bumper

08.02.2019

All Rights Reserved by Tarmetec | www.metec.ee



Scania S, R, G, P 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | NMepegHaa gyra FIN WING | LKW Bullfanger FIN WING

——H SCANIA

43

10 000 km 1]2[3]4]5]6]7

Ot 18]9 13[14]

15/16 20[21

@ 2223 1x 27| 28]
2[30 1|

® Kui METEC toode ei vasta Teie ootustele vdi kui on tegemist toote ebapiisava kvaliteediga, siis pretensioonid esitada lehel www.metec.ee

e |f the METEC product does not meet Your expectations or if it is a product of insufficient quality, then you can submit a claim at www.metec.ee

e Ecnn METEC npoaykT He COOTBETCTBYET Balumm oxuaaHusamM unv 3To NpoaykT HEAOCTAaTOYHOTO KavyecTBa, TO NPETEH3MNI0 NPeabsBUTbL MOXHO Ha caiiTe www.metec.ee
e \Wenn METEC Produkt nicht Ihren Erwartungen entspricht oder wenn es um Qualitdtsmangel geht, dann bitte die Anspriiche auf Seite www.metec.ee einreichen

All Rights Reserved by Tarmetec | www.metec.ee 08.02.2019 7/8



Scania S, R, G, P 2016-
Rammraud FIN WING | Truck cattleguard FIN WING | lNepegnas gyra FIN WING | LKW Bullfanger FIN WING

Lisa /extra / npunoxeHue / Extra

(=]

(o2} (=2
£ i
5 T S
= & 0
e b [
oo 59 o
- O g Q u“—
Q£ E >
S | S S —
o3 O3 c
— 0 u= (o]
]

) )
¥

All Rights Reserved by Tarmetec | www.metec.ee 08.02.2019 8/8



